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Plot[{f[-1, x], f[e, x],
{RG6BColor[1, 0, 0],

1, x1}, {x, -1, 2}, PlotStyle --
RGBColox [0, 1, 03, RGBColox[@, 0, 1133
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Plot[{1-x~2, -x"2}, {x, -2, 2},
PlotStyle -> {RGBColor[1, 0, 0], BGBColor[0, 1, 0]}]
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Plot[{Mbs[r], -Tbs[rl}, {r, -2, 2},
PlotStyle > {GrayLewel[0], Dashing[{.-03}1}]
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Plot[{f[0, x], £[0.5, x], £[1, x], £[2, x]}, {x, -1, 1},
PlotStyle -» {RGBColor[1, 0, 0], RGBColor[0, 1, 0],
RGBColor[0, 0, 1], RGBColor([0, 0, 01}]
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pl=Plot[{0, Log[r]}, {r, 0, 1}, PlotStyle -
{RGBColor[0, 0, 1], {Pashing[{.03}], RGBColor[D, 0, 0]}}]
p2=Plot[{0, Log[xr]}, {r, 1, 2}, PlotStyle —
{{Dashing[{.03}], RGBColox [0, 0, 1]}, RGEColoxr [0, 0, 0]}]

Show[pl, p2]
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pl=Plot[{x /. FindRoot[£f[r, x], {x, 2}],
0, xf. FindRoot [£f[r, x], {x, -2}]1},
fr, 1, 2}, PlotStyle —» {RGEBColox[0, 0, 0],

{Dashing[{.03}], R6BColor[0, 0, 1]}, ReBColox[0, 0, 0]}]

p2 = Plot[0, {r, 0, 1}, PlotStyle —> REBColor[0, 0, 1]]

Show([pl, p2]
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